Answers

[10] A: Clearly identify whether the given statement is true of false. Correct each false
statements so it is true.

There are}eolr‘neters in one kilometer.
|0oV

A cube is rectangular prism. @

“x” is the base in the expression: (5x)’

Sn
V5 a® — 2a? + a + 13 is a polynomial.

ﬂﬂﬁﬂ

25x2 — 289y2 is not factorable because 25 and 289 do not have a greatest common

factor other than 1. ,;15*7' ?_6"}\7 (5:( 173—)(3_*'!"77)

Every real number is either rational or irrational.”

~_ jEvery linear graph has an x-intercept. ‘EJEZ) ] O vironihl e

’lf- No+‘ é—]/ X ?/’14 o A~ lw/‘acqf:f' (JC._E;L/'
When adding two powers of the same base one c#h add their exponents. ?'7 = o

"'/ cannot

T Cosine ratio is the ratio# of the adjacent side to the hypotenuse.

/,- The inverse of a trigonometric ratio can be used to find an angle measure in degrees.

[10] B: Fill in the blanks so the statements are true and relevant. -}_ 71.
a) The point where a graph crosses the y-axis is called ‘1 ! h €fC€10

b) The number +3 in the polynomial 4x® + 3 + 8x is 'f@ (On 87‘4” ;‘ ( /‘WM)
c) Every horizontal line has Zer 0 slope.
d)v=8is hO"L a re aJ number.
e) The basic trigonometric ratios apply only to r ‘ h} —an % 1{1/ triangles.
1 f) Zero belongs in the following sets of numbers: !V_I_‘I_O_ig integers, /X }2 and
g} Aninchis _QT¢ CURV than a centimeter. Fen/ ra ﬁ on 4/
h} Volume can I§Je measured in hn L- M 1— a‘ql . (Give one example).
i) A hv\ ?D ‘ILCWH ?& is always the Iongest side of a right-angled triangle.




[10] C: Multiple —choice questions: choose the best answer. Show work.

1 N and Ngx

A) Vix > 2Vx C) cannot be compared
B) Vax<2vx x = Vax

2. Vxi=

A €) cannot be simplified

D) x!2

-¥=27 = _(_3) = 1

N

A) -9 C) isnotareal number
4, v Volume of a cube with surface area 937.5 cm? is
_ 2
A) 19m3 S ¢ 1953m? SA - G gl
= 2.5 9375 = L5
@ 1953.13 cm? . o) 195313mm?  —_ &
V' IQSS,,QCI’H - ’j‘é ZJ_
= - -
\.)15(9—.-1_4_ =
5 Tangent theta is
A 8 16cm H 9— > \')_ 6
10.6em + tn D - A 10.6 ° ——Sa 3
0 12cm
53 6
A) 3 53
B 3 D) =

)2.5



Cleck o 2-K* 0>
5'5’1-"-'3:)11- $. %

Y.25 # 2,97

7

6. What is true about triangle KLM? M
A) Triangle KLM is not a right-angled triangle. C) Angle M=56°

) — &ﬂ.l cm
B) Triangle KLM is a right-angled triangle. D) Angle K=28°.

L
V15
7. S
A) . isarealnumber. ¢~ C) ..isareal and rational number.|s X
B)  ..isanirrational number. ... is an irrational and real number. 1//
8. Volume of a cone with diameter 0.8 cm and height 30 mm is approximately
A} 20cm? l/ _ ', ll'v Q) 2011mm? r=0.%cm
30 r-4
3 - mm
B) 5cm i ;' 11)1@0) 503 mm3 mmn
- 6S s V= S50 ¢
=500 65Smm”> > V=903 mn
9. The degree of the polynomial 3xy? + 0.25y2 - 1x%y 'lis
3 @
A) 3 4
B) 7 D) 9
10. Radius.of a sphere with surface area of 339.8 cm®is
2L
n s2em® SA= 4’7}7 @ 27 cm
SA
B) 15cm 2. — D) 5.2cm
G
g ik =R 27¢m
5 bar




D: Short response: Show all work for full marks. Clearly identify the final answer. Include a

statement where appropriate.

[4] 1. Match the graphs with their equations.

A |
« /h 4_5 > < g
Rk ) s e
i i v
7
?=—5 y=-2x-5 x=-=5 y=2x-5
[6] 2. Graphthﬂi?given by6x+3y=—18usingtwodifferentmethods.Showalygotl}r/work. O
iy
\ < y
& T )}{ \m ‘
\"a
% \
T I
: o AT
(UIJCI (Ef?ll’ b\(/{m‘?&/.ﬂ COhvc)!' + = ﬂqx _{_é
pal (a/ é(")—) 'f—.))(j ;~}2 é’( F“;‘] - —’2
-b - = —bx )@
v 29370 =
-2 0 30 2 5
{;.7, \ “j—l"VL j’(’f”]



3. Determine which point is on the graph of a line given by the equation y = 3x — 5:

[3]
o AL ¥ 5
A{1,8) B (1,-{) C(2,1)
§=5-¥ Yy | = 3la)—
-1 = 5_-_\\-' ) = 6 —-J—‘

¢ = 3-%
df-2 "Ly y= 1

B o Hae @mf‘i o O ow P a raph

. - i
2 Aol g e c@v*ﬂ/abn.- 3
' - £1'% L
[41 4, A) Calculate the slope of a line that passes through points (21,1)1and (-0.$, 4.75.’
’PL ’PI
= = = & —— =715 QR [-=
il-—x' 2-(—0_4‘) 2-§ = 2,10 ; 2
e “s |
. ¢ Q J) ) fq Ry D'K 2 X, ¢ X, Fa
B) Find the missing coordinate if the line has the slope of — andéoes through points (1, —2) and (6,7).
n/':"‘ L"j)[g): 314—2
PR Bl S, I8 < g2
A b, =17
S
5. Find the surface area of the composite solid that consists of 3 differently sized cubes. The

3]
smallest cube has a side length 1.0 cm, the medium cube has a side length 2.0 cm and the largest cube
has a side length 6.0 cm. SA'g'l'gA'm ¢ SAL ~ Bver lﬁPS
L 7
. 6oy 2010+ € (20 - 2(2.0) 4 (60)

< 4(1)+h(y)+6(36)

' =8 em®
-".761; SA 9491&4 Com/ooailt 50Lpl ;3 236 Ch 1




é@\

6. Convert the following and use scientific notation with 2 decimal places.

a) 198 ft = ?km
1984+ | mle
1,  Loake -
! \5_26"0]['1 | e bt = 430‘3}(“/ ki’h
b) 356 m = ? mi
356m 1k } s o
1 " Tioocm * qukf: = 0,221 wm, -=~_£—'7Jx10r:r_

[3] 7. Solve the triangle ABC without using the Pythagorean theorem.

/L 2 = |18°-90°- ¥¢°
L;_z = 17’2’

——

lemo 30 QY= %

O

2. 30(en®?) . F722290

& = AD.07 cn

_-——-__-—__-——_ ——-'__“

(31 8. Find the measure of both acute angles in the given triangle.

(L) iLh-%3"

1icm

, A= W0-9py7”



é’\;{ 21 P s.

Express a mixed radical: Express as an entire radical:

Jaow - 16 5b3 W () o
- 2 .12 | st W
‘,{L v{; L | e 5%
— b — W

[3] 10. A) Solve by substitution. Check your answer.

= ()=
) = 2 -
=1 @l/

~2(2)-30) = -7
-4 -y = -7

...7:-’7/

- D i LSTRS | o~
) ‘[-.4 % = 2 aﬂ"’( ‘7 =—,/
— ¥
[3] 10. B) Solve by elimination. Check your answer.
% Sx+y=9 5x+4=9 %Cl't: @ 5(1)"'1‘/ =9

— F+4 =
10x — 7y = —18 Sk = 7

gl Q-9
~2 (Snty )= ‘ ‘—_:R—/\/
10 < - 37? ‘A:l ' }h‘i S L

O y=6x-11 w

@ -2&x-3y=-7 %

-24 - 3(.6;<—H)=*7
“2x - I#x43% =7
-20 x = ~2=32

’0’('7(7:-1&‘ @ !O(’fo'zz)j:};
_)f o —/?/
0 X =G - -
’(:qﬂ_ L [[s= RS) v

[ +4 E'_Qf_:' Gl =




[3] 10. C) Solve by graphing. Clearly identify the complete solution. O

e ﬂjw Qﬁ\m\nm :ﬂ s /_f]rbm X3
@ y=3*-6 (V1 ﬁ)@wl' 0)([ \wl»t/'a»(,bmﬂu

® A K\Si 4 Pmsl') > AL aed

\ —d; ‘7
@_}_CLJLch :
,/ O 4= 20k
i —9 s -6+
< ) 7 A “h=-h -
- |Ls=RS] _—
/)"B N 3
/// @ '3‘(3) ( O
I/'// "’LI = ’%‘ é
/1 J s oy

[4) 11. Use the graph below to estimate the tlme needed to travel 175 km; Ld distance tra{\ﬂm

f /oTimeneeded: ~ 105 h/uihw"t/\

300 / Method used: ’V]kV polﬂh ol .
€ 250 . ,
§ / (Interpolation or extrapolation).
= 200 A 5‘ 4,(
N L e = :@/ Distance traveled: m
£ 150 . Z )
S / ' Method used: LA +r6t Po (ah s
§ 100 Val 3 /
é‘ 50 : (Interpolation or extrapolation).
o L2 /T ' "
0 ,,-\30 60 90 120 150 180 O
Tirme (mins)

IS



[a)

A)

_b&an - %%hﬂbv

l)&vo (P
3] .8 ,9«?0

12, Factor fully if possible: ‘%7

6x>+x—2 B) x?+ 2x — 15

l,/\/ - @'j)()ﬂf)

lé/(l-f—-l/xl- 13)( A \

Ixlagie) -1(3x+2)

@;C’/)(}Xfl)

[10]

13. Bridget has a cell-phone plan that allows for unlimited texting and local calls. She, however,

is charged a monthly fee and for every minute she calls long distance. in September Bridget spent an
hour and half talking with her friend in Alberta and her bill was $65.00. She used 35 long-distance
minutes in October and her cell-phone bill was $51.25,. How much is Bridget charged for this plan a
month?

Graph the relation.
a) ldentify the independent variable: HM M'kd 7"‘"4. ,S‘ﬂ,g“/ B"//’ "4 é’ﬂ'ﬂ ﬁbk« «
b) Identify the dependent variable: $ C&%Q{f{ ’})—1’4 Mw% v

c) What axis is the independent variable graphed on? X - Axd (P J
d) What axis is the dependent variable graphed on? ,"f -~ Ax) ( ¢ )
e) Fill in the chart using the information in the word problem above.
hon
X;= C] D V.= £S5.00
w35 v Slas




f) Find the slope of the linear relation. O
Y2=¥1
Xz2—X1

125 - 68 YR I T
i 51.25- 6800 P :0123/ |
25 - 9o 59 hain

Recall: m =

What does the slope stand for in this particular scenario?
£ 0-27 90 hivut of 7 pistasec el

g) Use one of the ordered pairs (either, (x1,y1) or (x2,y2} to find the value of b in the linear
equation in slope intercept form. SHOW ALL WORK. =
s Lé Mmrt+b
(9 0 65 )

5= 0-25(90) + b

6= 72-50 4

bi-22.50 =4
> b =baso

h) Write a linear equation that shows the relationships between the cost of the a cell-phone
plan and the time spent talking long-distance:

Y= O0oAS X + 44,50
U

What does the y-intercept {b) stand for in this particular scenario?
Tl coit of H Ce///p/wu Qlow. i#hot [ doy e

i) Find how much Bridget pays when she makes no Iong -distance calls and how much is% &//S
bitl when she talks long-distance for 70 minutes.

2 Bridact $’/7’JJD(,(MMML«4@’&’ -
ol 2, v

o Briaet paye  025()e bir0 > $ 6200
L%(/M Lo Méxl 720 bwﬁm%—/&y p&q/awo(




j) Graph the relation. Remember give the graph a title and label its axes.

}Y"O\QLP} CL”Pbuouu, Will verans Fine LMP Cw“/\"?/‘/m:]

s 4‘:";“0
hY 5
$ -
~ T
e £s
NN e
N\ P s il
% N
:- L ~
T -L:' ] [ 0o %0 20 0 2]
114l My bt [o] mU Wiy cd /s
O T T

k) Using the graph, estimate the cost of the bill when 40 minutes of long-distance minutes are

used. "V $ SLf Y (iSp?,s'" EX&C/’LU)

I} Using the graph, estimate how much time was spent on long-distance calls if the bill was

v a3 i (2 v by )
m) What assumptions do you make?

D Atsume o 6dler Widden fcu ik Hee Q///oécﬂu.)
wo Hodn  the.

Mot @Sbma}w 1Y .&va b be luack bul i
® ,Zzﬁmjpoép/ﬂm Inben pobbhve. Pl be b n

$49.00
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